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1. Find the overags power deliversd to the 20 Q resister in the circuit shoent in Fig. | if v, = 156 cosfut) ¥, (20%%)
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2, Therc it no coergy steved in the cizruit shewa L Fig. 2 at the time the seurces are enevgized. Tind vo(1) for 0= {. (13
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3. Find the Thevenit equivatent of the netwerk shown io Fig. 3. What iz the maxinwm pevwer that could be defivered in a resisior
connected (o teaningls aand b7 {15%)
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4, The BT clycuit in Fig-#4 has an unknown capaclior C, When the sesistance R is 1k and we(lf) = 0, it tukes 0.2 sze for voft) do
reach 3034 of Ve IF it ig desired to have wefld reach 50% of Wo at 005 gec, whid should the resistance B bat {15963
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Fig. 4

5 Ghow that the instantaneons powet pt of & thros-phase, balanesd, positlve-sequence toed is squal 1w ils averege power P
Assurc the three-phase load is {2) V-conneated {b) A-todfiected. (105

§. Explain the foltowing lemms {20%5)
{31 duality  {b) driving-peint impedanse (33 gowrce-free responss (4} siople-phase (pee-anpe syaterm
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